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Find the median, mean, range, lower quartile, upper quartile, and interquartile range for each

data set.

1)  

State Years State Years State Years State Years State Years

West Virginia 74.1 District of Columbia 77.9 Wisconsin 79.8 North Dakota 80.2 Maryland 81

Mississippi 74.2 South Carolina 78.3 Nebraska 79.8 Washington 80.3 Ohio 81

South Dakota 74.3 Kansas 78.6 Iowa 79.8 Vermont 80.4 Oregon 82

Kentucky 74.7 Arizona 79.3

Life Expectancy

Find the probability of each event.

2)  A basketball player has a 50% chance of

making each free throw.  What is the

probability that the player makes exactly

six out of eleven free throws?

Find the number of possibilities in each scenario.

3)  There are 300 people at a meeting.  They

each shake hands with everyone else. 

How many handshakes were there?

Find the median, mean, range, lower quartile, upper quartile, and interquartile range for each

data set.

4)  

City Population City Population City Population City Population

Birmingham 212,237 Norfolk 242,803 Stockton 291,707 Seattle 608,660

Irvine 212,375 Lincoln 258,379 Cincinnati 296,943 Baltimore 620,961

Garland 226,876 Greensboro 269,666 Pittsburgh 305,704 San Antonio 1,327,407

Orlando 238,300 Newark 277,140 Colorado Springs 416,427

Large US Cities

Christine Gutierrez
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5)  

14 16 18 20 22

Age

Age at First Job

Solve each equation by factoring.

6)  b
2 - 40 = 3b

Evaluate each expression.

7)  
26 + 2 - 4

6

8)  
21
C

16

Find the probability of each event.

9)  One day, eleven babies are born at a

hospital.  Assuming each baby has an

equal chance of being a boy or girl, what

is the probability that at least ten of the

eleven babies are girls?
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Find the number of possibilities in each scenario.

10)  Carlos and Mofor are planning trips to

three countries this year.  There are 4

countries they would like to visit.  One

trip will be one week long, another two

days, and the other two weeks.

Find the median, mean, range, lower quartile, upper quartile, and interquartile range for each

data set.

11)  

12 14 16 18

Age

Age at First Job

Find the number of possibilities in each scenario.

12)  Ming has homework in four subjects.  She

is deciding what order to complete them

in.
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Write the slope-intercept form of the equation of the line through the given point with the given

slope.

13)  through: (3, 5),   slope = 3

Simplify.

14)  
3

192m4

Solve each equation by factoring.

15)  26n2 - 178n + 110 = 2n2 + 6n - 2

Evaluate each using the values given.

16)  j + 2 - h - 3k; use h = 9, j = -7, and k = 8
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Solve each equation.

17)  -9(n - 8) + 4(n - 9) = -2n + 6n 18)  6k - 1  = 1

Solve each equation by factoring.

19)  (3a + 1)(a + 1) = 0

Find the median, mean, range, lower quartile, upper quartile, and interquartile range for each

data set.

20)  

11 13 13 13 13 13 14

15 15 16 16 17 17 18

18 18 22

Age at First Job

Simplify each expression.

21)  -3b(-5b - 3) - 6b(7b + 2)
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Sketch the graph of each line.

22)  y = 
5

4
x

x

y

-6 -5 -4 -3 -2 -1 1 2 3 4 5 6

-6

-5

-4

-3

-2

-1

1

2

3

4

5

6

Find the median, mean, range, lower quartile, upper quartile, and interquartile range for each

data set.

23)  

Stem Leaf

4 0 0 1 1 4 7

5 2 5 6 7 9

6 1 2 6 8

7 1

Key: 4|7 = 47,000

Monthly Revenue

Solve each equation.

24)  -37 + 8m = -5(-7m + 2)
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Find the median, mean, range, lower quartile, upper quartile, and interquartile range for each

data set.

25)  

Stem Leaf

5 3 8 8

6 1 8

7 5

8 1 4 5 7

9 2 2 3 6 7

10 2

Key: 7|5 = 7,500

Injuries Due to Distracted Driving per Month

Find the probability of each event.

26)  A class has nine boys and five girls.  If the

teacher randomly picks nine students,

what is the probability that she will pick

all boys?

Factor each completely.

27)  300 - 192x2
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Find the probability of each event.

28)  A six-sided die is rolled eleven times. 

What is the probability that the die will

show an even number exactly three times?

Solve each equation.

29)  -4(-2 + 3r) + 11(-1 + r) = 1 - 10r + 1 + 8r

Evaluate each expression.

30)  9 + (-8) - 10 - (-7)

Find the median, mean, range, lower quartile, upper quartile, and interquartile range for each

data set.

31)  

2

4

6

8

10

12

1
9
3
5

1
9
4
0

1
9
4
5

1
9
5
0

1
9
5
5

1
9
6
0

1
9
6
5

1
9
7
0

1
9
7
5

1
9
8
0

1
9
8
5

1
9
9
0

1
9
9
5

2
0
0
0

2
0
0
5

N
u
m

b
e
r

Year

Nobel Laureates

Simplify each expression.

32)  6m(8m - 1) + 7m(-5m - 5)
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List all possible combinations.

33)  4, 5, 6, 7, taken two at a time

Solve each inequality and graph its solution.

34)  6k - 8  £ 56

-8 -6 -4 -2 0 2 4 6 8 10

Find the median, mean, range, lower quartile, upper quartile, and interquartile range for each

data set.

35)  

Senator Age Senator Age Senator Age Senator Age Senator Age

Marco Rubio 39 Chris Coons 47 Ron Johnson 55 Dianne Feinstein 59 Richard Blumenthal 64

Chris Murphy 39 Jon Tester 50 Tom Coburn 56 Pat Roberts 60 Mazie Hirono 65

Patty Murray 42 John Barrasso 54 Al Franken 58 Johnny Isakson 60 Dan Coats 67

David Vitter 43

Age Assumed Office

Solve each inequality and graph its solution.

36)  3 + 3r  - 9 £ 0

-6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6
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Factor each completely.

37)  8x3 - 20x2 + 6x - 15

Evaluate each expression.

38)  
19
C

13

Factor each completely.

39)  2n3 + 4n2 + n + 2



©j b2y0a2j1e pKmult\aW fS\opfVt\w^aqrQew `LNLCCV.l P pA`lYlX Drliigjh_tVsQ BrzeasIeGrovMe\dz.D b AM]aDdRee VwIiztlhv oIgnAf[i^neiRtdeq ^PBryeF-wAhl\gaeSburfaR.

Worksheet by Kuta Software LLC

-11-

Sketch the graph of each line.

40)  -4x - 2y = -10

x

y

-6 -5 -4 -3 -2 -1 1 2 3 4 5 6

-6

-5

-4

-3

-2

-1

1

2

3

4

5

6

Find the number of possibilities in each scenario.

41)  The student body of 100 students wants to

elect three representatives.

Factor each completely.

42)  v
2 + 10v + 25

Find the number of possibilities in each scenario.

43)  The batting order for nine players on a 12

person team.

44)  There are 280 people at a meeting.  They

each give a Valentine's Day card to

everyone else.  How many cards were

given?
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Evaluate each using the values given.

45)  y(x + 9 - z) - z; use x = 9, y = 3, and z = -8

Write the slope-intercept form of the equation of the line through the given point with the given

slope.

46)  through: (4, 3),   slope = 2

Solve each equation.

47)  -12 - 6x = -2(x - 6)

Simplify.

48)  2 28x4

In each problem, angle C is a right angle.  Solve each triangle rounding answers to the nearest

tenth.

49)  Bm  = 62°,  b = 8 in



©k H2y0E2y1M oKcuttFaW uSooCfPtOweaxrIec MLRLrCN.p B CAFlLlf DrXiKgih]tOsa Nr\essieNryvYeSdm.g S YMPaPdheM FwlimtFhD JIUnGfKiYntiNtBeH tPHrReh-uAzl`gKe\bwrMaY.

Worksheet by Kuta Software LLC

-13-

Find the median, mean, range, lower quartile, upper quartile, and interquartile range for each

data set.

50)  

4

8

12

16

20

24
$
3
5
,0
0
0

$
4
5
,0
0
0

$
5
5
,0
0
0

$
6
5
,0
0
0

$
7
5
,0
0
0

$
8
5
,0
0
0

$
9
5
,0
0
0

$
1
0
5
,0
0
0

$
1
1
5
,0
0
0

$
1
2
5
,0
0
0

$
1
3
5
,0
0
0

$
1
4
5
,0
0
0

$
1
5
5
,0
0
0

$
1
6
5
,0
0
0

$
1
7
5
,0
0
0

$
1
8
5
,0
0
0

$
1
9
5
,0
0
0

T
a
x
 R

a
te

 (
%

)

Income

Federal Income Tax

Solve each equation.

51)  5 5n - 6  = 30

Simplify.

52)  6 392x

Solve each equation by factoring.

53)  126k2 = 24k + 192
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List all possible combinations.

54)  1, 2, 3, 4, taken two at a time

Sketch the graph of each line.

55)  2x - 5y = 0

x

y

-6 -5 -4 -3 -2 -1 1 2 3 4 5 6

-6

-5

-4

-3

-2

-1

1

2

3

4

5

6
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Find the median, mean, range, lower quartile, upper quartile, and interquartile range for each

data set.

1)  

State Years State Years State Years State Years State Years

West Virginia 74.1 District of Columbia 77.9 Wisconsin 79.8 North Dakota 80.2 Maryland 81

Mississippi 74.2 South Carolina 78.3 Nebraska 79.8 Washington 80.3 Ohio 81

South Dakota 74.3 Kansas 78.6 Iowa 79.8 Vermont 80.4 Oregon 82

Kentucky 74.7 Arizona 79.3

Life Expectancy

Median = 79.8, Mean = 78.57, Range = 7.9, Q
1
 = 76.3, Q

3
 = 80.35 and IQR = 4.05

Find the probability of each event.

2)  A basketball player has a 50% chance of

making each free throw.  What is the

probability that the player makes exactly

six out of eleven free throws?

231

1024
 » 22.559%

Find the number of possibilities in each scenario.

3)  There are 300 people at a meeting.  They

each shake hands with everyone else. 

How many handshakes were there?

44,850

Find the median, mean, range, lower quartile, upper quartile, and interquartile range for each

data set.

4)  

City Population City Population City Population City Population

Birmingham 212,237 Norfolk 242,803 Stockton 291,707 Seattle 608,660

Irvine 212,375 Lincoln 258,379 Cincinnati 296,943 Baltimore 620,961

Garland 226,876 Greensboro 269,666 Pittsburgh 305,704 San Antonio 1,327,407

Orlando 238,300 Newark 277,140 Colorado Springs 416,427

Large US Cities

Median = 277,140, Mean = 387,039, Range = 1,115,170, Q
1
 = 238,300, Q

3
 = 416,427 and 

IQR = 178,127



©] a2W0_2a1T XKQuutfaY vSQoNfst]wKaMrJeU \LjLsCD.u T bAblvlt `rJiigThXtJsr mrte_smeorOvGecdD.U i iMJandSe_ gwiigt]hu HIanvffiinEiat^eR JPMrpeU-VArllgkeFbMrKaw.

Worksheet by Kuta Software LLC

-2-

5)  

14 16 18 20 22

Age

Age at First Job

Median = 16, Mean = 15.94, 

Range = 9, Q
1
 = 14, Q

3
 = 16 and 

IQR = 2

Solve each equation by factoring.

6)  b
2 - 40 = 3b

{8, -5}

Evaluate each expression.

7)  
26 + 2 - 4

6

4

8)  
21
C

16

20,349

Find the probability of each event.

9)  One day, eleven babies are born at a

hospital.  Assuming each baby has an

equal chance of being a boy or girl, what

is the probability that at least ten of the

eleven babies are girls?

3

512
 » 0.586%
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Find the number of possibilities in each scenario.

10)  Carlos and Mofor are planning trips to

three countries this year.  There are 4

countries they would like to visit.  One

trip will be one week long, another two

days, and the other two weeks.

24

Find the median, mean, range, lower quartile, upper quartile, and interquartile range for each

data set.

11)  

12 14 16 18

Age

Age at First Job

Median = 16, Mean = 15.65, 

Range = 7, Q
1
 = 14, Q

3
 = 17 and 

IQR = 3

Find the number of possibilities in each scenario.

12)  Ming has homework in four subjects.  She

is deciding what order to complete them

in.

24
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Write the slope-intercept form of the equation of the line through the given point with the given

slope.

13)  through: (3, 5),   slope = 3

y = 3x - 4

Simplify.

14)  
3

192m4

4m
3

3m

Solve each equation by factoring.

15)  26n2 - 178n + 110 = 2n2 + 6n - 2

{2

3
, 7}

Evaluate each using the values given.

16)  j + 2 - h - 3k; use h = 9, j = -7, and k = 8

-38
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Solve each equation.

17)  -9(n - 8) + 4(n - 9) = -2n + 6n

{4}

18)  6k - 1  = 1

{1

3
, 0}

Solve each equation by factoring.

19)  (3a + 1)(a + 1) = 0

{- 1

3
, -1}

Find the median, mean, range, lower quartile, upper quartile, and interquartile range for each

data set.

20)  

11 13 13 13 13 13 14

15 15 16 16 17 17 18

18 18 22

Age at First Job

Median = 15, Mean = 15.41, 

Range = 11, Q
1
 = 13, Q

3
 = 17.5 and 

IQR = 4.5

Simplify each expression.

21)  -3b(-5b - 3) - 6b(7b + 2)

-27b2 - 3b
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Sketch the graph of each line.

22)  y = 
5

4
x

x

y

-6 -5 -4 -3 -2 -1 1 2 3 4 5 6

-6

-5

-4

-3

-2

-1

1

2

3

4

5

6

Find the median, mean, range, lower quartile, upper quartile, and interquartile range for each

data set.

23)  

Stem Leaf

4 0 0 1 1 4 7

5 2 5 6 7 9

6 1 2 6 8

7 1

Key: 4|7 = 47,000

Monthly Revenue

Median = 55,500, 

Mean = 53,750, Range = 31,000, 

Q
1
 = 42,500, Q

3
 = 61,500 and 

IQR = 19,000

Solve each equation.

24)  -37 + 8m = -5(-7m + 2)

{-1}
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Find the median, mean, range, lower quartile, upper quartile, and interquartile range for each

data set.

25)  

Stem Leaf

5 3 8 8

6 1 8

7 5

8 1 4 5 7

9 2 2 3 6 7

10 2

Key: 7|5 = 7,500

Injuries Due to Distracted Driving per Month

Median = 8,450, Mean = 8,012.5, 

Range = 4,900, Q
1
 = 6,450, Q

3
 = 9,250 and 

IQR = 2,800

Find the probability of each event.

26)  A class has nine boys and five girls.  If the

teacher randomly picks nine students,

what is the probability that she will pick

all boys?

1

2002
 » 0.05%

Factor each completely.

27)  300 - 192x2

12(5 + 4x)(5 - 4x)
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Find the probability of each event.

28)  A six-sided die is rolled eleven times. 

What is the probability that the die will

show an even number exactly three times?

165

2048
 » 8.057%

Solve each equation.

29)  -4(-2 + 3r) + 11(-1 + r) = 1 - 10r + 1 + 8r

{5}

Evaluate each expression.

30)  9 + (-8) - 10 - (-7)

-2

Find the median, mean, range, lower quartile, upper quartile, and interquartile range for each

data set.

31)  

2

4

6

8

10

12

1
9
3
5

1
9
4
0

1
9
4
5

1
9
5
0

1
9
5
5

1
9
6
0

1
9
6
5

1
9
7
0

1
9
7
5

1
9
8
0

1
9
8
5

1
9
9
0

1
9
9
5

2
0
0
0

2
0
0
5

N
u
m

b
e
r

Year

Nobel Laureates

Median = 9, Mean = 8.6, Range = 13, 

Q
1
 = 6, Q

3
 = 12 and IQR = 6

Simplify each expression.

32)  6m(8m - 1) + 7m(-5m - 5)

13m2 - 41m
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List all possible combinations.

33)  4, 5, 6, 7, taken two at a time

45

46

47

    56

57

67

Solve each inequality and graph its solution.

34)  6k - 8  £ 56

-8 -6 -4 -2 0 2 4 6 8 10

-8 £ k £ 
32

3

Find the median, mean, range, lower quartile, upper quartile, and interquartile range for each

data set.

35)  

Senator Age Senator Age Senator Age Senator Age Senator Age

Marco Rubio 39 Chris Coons 47 Ron Johnson 55 Dianne Feinstein 59 Richard Blumenthal 64

Chris Murphy 39 Jon Tester 50 Tom Coburn 56 Pat Roberts 60 Mazie Hirono 65

Patty Murray 42 John Barrasso 54 Al Franken 58 Johnny Isakson 60 Dan Coats 67

David Vitter 43

Age Assumed Office

Median = 55.5, Mean = 53.63, Range = 28, Q
1
 = 45, Q

3
 = 60 and IQR = 15

Solve each inequality and graph its solution.

36)  3 + 3r  - 9 £ 0

-6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6

-4 £ r £ 2



©z M2p0t2p1l uKMuVtTam ySMokfqtgwJaCrAen QLvLuCG.x S vAxlelj frUikgAhJtBsn HrbejsgeCrkvfejdt.] W VMWaKdJeb QwRiotLhc cILndf`ifnxijtReD bPFrpes-zAEldgJeubZrBaE.

Worksheet by Kuta Software LLC

-10-

Factor each completely.

37)  8x3 - 20x2 + 6x - 15

(4x2 + 3)(2x - 5)

Evaluate each expression.

38)  
19
C

13

27,132

Factor each completely.

39)  2n3 + 4n2 + n + 2

(2n2 + 1)(n + 2)
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Sketch the graph of each line.

40)  -4x - 2y = -10

x

y

-6 -5 -4 -3 -2 -1 1 2 3 4 5 6

-6

-5

-4

-3

-2

-1

1

2

3

4

5

6

Find the number of possibilities in each scenario.

41)  The student body of 100 students wants to

elect three representatives.

161,700

Factor each completely.

42)  v
2 + 10v + 25

(v + 5)2

Find the number of possibilities in each scenario.

43)  The batting order for nine players on a 12

person team.

79,833,600

44)  There are 280 people at a meeting.  They

each give a Valentine's Day card to

everyone else.  How many cards were

given?

78,120



©S S2H0J2e1N gKLuDtbaB oS[oKfPt]wfabrNen vL]LNC^.z X bAelflL IrPiJgzhVtMsc nr^eYsKeQryvjeTd^.k q JMWaTdJet mw]iqtUhw IISnPfCixnCiZt^eM gPVrOe\-HAvlKgHe]burBax.

Worksheet by Kuta Software LLC

-12-

Evaluate each using the values given.

45)  y(x + 9 - z) - z; use x = 9, y = 3, and z = -8

86

Write the slope-intercept form of the equation of the line through the given point with the given

slope.

46)  through: (4, 3),   slope = 2

y = 2x - 5

Solve each equation.

47)  -12 - 6x = -2(x - 6)

{-6}

Simplify.

48)  2 28x4

4x2 7

In each problem, angle C is a right angle.  Solve each triangle rounding answers to the nearest

tenth.

49)  Bm  = 62°,  b = 8 in

Am  = 28°,  a = 4.3 in,  c = 9.1 in
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Find the median, mean, range, lower quartile, upper quartile, and interquartile range for each

data set.

50)  

4

8

12

16

20

24
$
3
5
,0
0
0

$
4
5
,0
0
0

$
5
5
,0
0
0

$
6
5
,0
0
0

$
7
5
,0
0
0

$
8
5
,0
0
0

$
9
5
,0
0
0

$
1
0
5
,0
0
0

$
1
1
5
,0
0
0

$
1
2
5
,0
0
0

$
1
3
5
,0
0
0

$
1
4
5
,0
0
0

$
1
5
5
,0
0
0

$
1
6
5
,0
0
0

$
1
7
5
,0
0
0

$
1
8
5
,0
0
0

$
1
9
5
,0
0
0

T
a
x
 R

a
te

 (
%

)

Income

Federal Income Tax

Median = 22, Mean = 21.18, Range = 11, 

Q
1
 = 19, Q

3
 = 24 and IQR = 5

Solve each equation.

51)  5 5n - 6  = 30

{12

5
, 0}

Simplify.

52)  6 392x

84 2x

Solve each equation by factoring.

53)  126k2 = 24k + 192

{4

3
, -

8

7}
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List all possible combinations.

54)  1, 2, 3, 4, taken two at a time

12

13

14

    23

24

34

Sketch the graph of each line.

55)  2x - 5y = 0

x

y

-6 -5 -4 -3 -2 -1 1 2 3 4 5 6

-6

-5

-4

-3

-2

-1

1

2

3

4

5

6


